20254 BT 5B R ERE KL B B AR — KIERE BRSO v s

HAEHR
EEEPE
s FlkSE
B EN
ERR LR Tl |ggme Gp| FAVKR RLAE .
& Beke AR ps T AR | BB | e | e | REURR| RSO ﬁggi’; — = #iE
%) B e V5 | ) et = - Rt
g | e | TLK
ERESA 2
oA
s
ol |WERES CRIGERSEM) (PR AR 30| mm o ceRh | wmmz | 22500 2 %
A24 Ll TR AR
A 23 2
on  |Esit 30| mm eRh | wEz | 20000 3 5
02 KB={IEY Nz an 3 B (ERD | Emk 18000 4 7
P P R R E— 000 ) " R ﬁf‘f@ FIRRBAR) BIRBA AT
00
04 AR TREEA 3 = (R ELSUES 18000 10 10
05 BRI TREA 30| B eRh | wE 18000 10 12
PP - R R E— 000 " . , ﬁf‘f@ FIRRBAR) BB T
00
07 A TREH (BRI 3 = (R ELSUES 18000 10 10
W ¥/ I s | am o | o0 . " ) ﬁf‘f@ FRRBAR) BB T
00
00 |4miRg L 30| B eRh | wE 18000 5 5
AL | ORI R o
10 |EEEHESHFENEE 3 EBE (R | sk 18000 5 7
1 [ B R Fe e 45 4 L 3 = (R ELSUES 18000 7 10
PP F— R R E— 000 } ; ) ﬁf‘f@ FRRBAR) BB T
00
13 TRl e 3 = (R ELSUES 18000 5
14 | AT AR 30| mm o eRh | wmEz | 26000 5 5
15 |EEECEER 5| mmocern | wmk | 18000 5 7 2 SR CRRUREAR) Gk AT
00
16 [FRZERI 5 s AR 3 B (EHR) | EaEk 18000 7
17 | 30| mm eRh | 18000 5
5 lom s | o e | sk | 20000 " ” R ﬁ@f@ FRRINE) BREAFIET
00




i p]

TR
« 3k F
RG22
EHR HUEHE Sl |pin o) FLKF SAKCE g
& Beke 47K s RET LA | BBRR | e | e | Rera|meore| TR L g RS B
_|s HE=EE
B L 5 | O B = L
e | g | K
PRS2
HIRE R =
£
19 |Bhr= 3 B (TR | Hmk 20000 3 5
20 irssbumsssok . B (ER) | sk 18000 5 g ) Eﬁi;}%i” FRESAE) BRES T
100
21 | BRAFER 3 BE (LR | %m% 18000 5 5
2 |eisEey 30| mmoceR) | wmEn 18000 5 10 ko
A4l HEFEHR B AR 2B A —
S E— s | am cem | s | 1so00 5 0 ) Hfﬂi\%zﬂ CERRAR) R R IET
1004
24 PSRBT 30| ®m (R | ZAR% | 20000 2 2
S — s L am cem | 2ao | 20000 ) ) 5 FMRA CE USRS A AIET
1004y
WA RIEH: 327 125 182 20
01 AiRrates 3 IR (B | HER 26800 4 10 3
02 (BATHEFE 30| @I (ERD | Wi 26800 2 10 3
03 |XERUGER (PREE) 3 B (R | %k 29800 2 16 3
04 SRS iEE 3 IR (R FERIES 26800 2 16 3
05 |tk 5| B oceRn | wmEx | 26800 6 3 3
i
A42 g RGN EE R 2 B 06 |ERMEAR 3 AR (LR | ik 26800 10 39 3
07 [KIRGEE 3 IR (B | E%R 26800 2 15 3
10 [BARBEH (DILER) 30| W (RRD | A% 26800 2 12 3
1 stk st 3| EB (BRD | BA% 26800 3 10 3
12 2R RT 3 AR (B | ZAR%K 26800 3 12 3
A 245 . e 30

523,




iR

EEEPE
NE- 3! 7 &2
B 2m
ERAR S8 Tl |gmiin (o) FALKF| Sk A ,
& Beke 47K s RET LA | BBRR | e | e | Rera|meore| TR L g RS B
_|v EE=%
%Y. o R | B = I8
s Rk £, FlK
FRGA &
BB JE =4
T3
01 |y B (BR[| Hms 23000 2 17 P04t R R
02 |BYLLEIRSG SEH IR (B | HEk 21000 2 10
03 | K#HRS AT BN (R | HEA 21000 10 26
04 WA B R B . R (B LS UES 21000 3 14
05 %45 HHRRS B (BR[| Hms 21000 5 1
06 ML 45 IR (B | s 21000 5 13
07 Bl fkibBA B (BR[| Hm 21000 10 30
08  |HrREIRIRAERA IR (FR | EHEk 21000 5 15
09 | TALHLE AR A (BR[| HE% 21000 3 17
10 WU [ 3k B (BR[| Hms 21000 7 16
1 SRR L R R SR (B LS EES 21000 7 24
12 |EREEB A R (ER) | HE% 21000 4 19 ikor
A3 | REARETUE A A
13 | (BR[| HmEs 23000 13 33 R Y
14 |zhes B (R | Mm% 21000 6 16
15 |RAEHRS BB (GRD | i 21000 5 17
16 |Rfizh e emD B (BR[| Hms 21000 6 9 LM A R R
17 [SFEHUY AR IR (B | EHEk 21000 10 43
18 [RsdsR (BR[| HE% 21000 7 27
19 2N iR (FFED 2R 23000 4 13
20 |WMEBEEA B (BRD | BAR% 23000 1 10
21 PR H IR B (BB | A% 23000 1 9
22 WS ARE R (B 2R 23000 7 11
25 | SR BB (R | EA% 23000 4 7
LA 534 27 il
#3750, 4610 5




iR

EEEPE
NE- 3! 7 &2
B 2m
— . !lk 3| llk 0
ﬁzﬁ Beke 47K i{gﬁ RET LA 25 | EHER Z; #ﬁ:ﬁ) e iﬁf; iﬁﬁz &FEZE —a B
WS | UL = jﬁi;k | e
S L PN
BB JE =4
T3
01 [pm kA 30| am cepb | wmx | 21800 7 25 8
02 [TlALE A 30| BB (BRD | Hm% 21800 7 20 4
03 [MreEEA 30| B (BRD | BE% 21800 7 18 2
04 |BURdLE K 1 Fhik 3| EE (BR) | HE% 21800 3 17 2
05 |RedlEaRA 3| EO(BR) | HwE% 21800 6 20 4
06 |BiAEEIAEHEA 30| BB (B | Hm% 21800 10 25 5
07 [memmriesk 3 [ cerp | wmamx | 2180 5 18 2
08 [HEEHLRIGHEA 30| BB (BRD | HE% 21800 18 5
09 [HFBEBUBIIBEAR (R ELIE I B FIAR PP 42 ) 3 | ceb | wmamx | 2180 6 15 5
10 IR R B FH B AR 3 IR (8D LS EES 21800 5 7 4
U B A 3| mmocern | mmx | 210 5 7 2
12 YHHE 3 = (R LS UES 21800 8 28 9
13 W45 HiE 3 IR (8D LS UES 21800 4 12 3
14 |sEAsELENT 3 | ceb | wmamx | 2180 4 10 2 T
A4 L LRI A 15 | KA S S WEAIIE. Wihei) 30| mm R | wmmx 21800 5 10 1
16 |mrps 3 | @ eRb | wmx | 21800 2 4 4
17 | mEER ) 3 | @ eRb | wmx | 21800 4 6 2
18 |ambciEm 3 | mm eRb | wmx | 2100 2 3 i
19 Rk 3 | mmocern | mEx [ 20000 3 13 i CRURF SRR 5% R T
20 s s 3 | am ceb | wmamx | 2400 3 3 2 P
21 P 3 IR (ERD) LRt ES 24800 4 35 5
2 b S| Em R | ek | 2800 5 10 P
23 |RKEREEE Oh DA 5 | mmocesn | wmmx | 30000 6 9 i CIURF SRR 8% R
24 [WEEESHTEE Cha) 5 | mmocern | mEx | 30000 5 12 2 CURF SRR 5% e T
25 |EiEH S TE 3 [ mm e | whx | 230 2 8 2 . BN
26 [Hersk s At 3 | mm cepb | ek | 2380 4 10 2 . WERHHE
27 |mmEAR 3 | mm (eR | wAk%k | 23800 2 8 2 . WE RS
BA A 584 131 371 82
AT, L1077




i p]

EEEPE
NE- 3! 7 &2
BEEAR 2
% pegppp (op| FAKF | FOLKF K
e RET LA e =2 iy RS R 2 ﬁﬁg:ﬁ P B
%Y 7 Ve | ) B et = - e
g Btk £, ik
ERSA 2
BN B =
£%
% WML ELA G — i R 2 A AR B
WA ST, HARES (BRES =
09 | IEgEEE A B (R | EmEk 7500 8 BV 2R AR 2 KPS0 B 3983
[REENER IR I e saii Al my =
BB AR T 2604y
8 8
01 HRYTEH (510 R (R | Bk 19300 5 7 2
02 ] 4z Rl IR (TR | E% 19300 5 8
03 [K¥IELESI R (R | HEk 19300 6 14 3
04 [#&TAE IR (B | ER 19000 4 10 2
05  [BEBEHLTHS R (R | HEk 19300 4 10
06 ML 45 B (B | E%R 19300 2 10 2
07 | B R (R | sk 19000 4 16 3
08 [t IR (TR | ER 19000 5 10
09 [EEERSHFIEE R (R | HEk 19000 5 12 3
10 |EELE5ER IR (R | @k 22000 3 12 3
IR AERR AR 2B 11 | SIE GBI 455 BER (R | MEZk 18900 4 10 2
12 | MAEECILIEE) IR (B | HE%R 18900 3 10
13 (MAEE EEREH) R (R | HEk 18900 3 18 2
14 | BB % 5HRI IR (TR | ER 18900 3 11 2
15 AR HEAR (MY RREA) BER (R | MEsk 19300 5 15 2
16 [FHEMABAR w5 ) IR (B | EER 19300 4 10
17 (B A (ERIESVRET) BE (BR) | MEZk 19300 5 21 2
18 |ZARBGE (FREEBGH IR (ERD) 22400 7
19 | ZRET (WIEfEE) IR (8D 22400 3 8
20 |HEREARBTE IR (ERD 22400 1 13
21 PN/ Sians IR (8D 22400 3 10 2

#5T,

\
P
=




BAEHR
EEEPE
NE- 3! 7 &2
BEEAR 2
R S EE B |3ig G PLRF I LAF ,
- Ber & RS RELLEH W | FHEK BR | /) |REFR|REFL| piiio yigh [ERER &
%Y 7 Ve | ) B et = e
s etk £, ik
ERSA 2
BN B =
£%
22 R A2 1 3 B O(ERD | A% 25200 10
R P— 3| mW (R | BA% 22400 2 12 2 e
A59 bR AR 24 |4 30| mmo(sR) | wms 22000 5 31 4 53
25 [EAEE A 30| WE (BRD | m 19300 5 16 2
WETHRI AT 438 89 311 38
0 |WsE sk B V| i |[Remes
A61 R B AR B
A RIAT: 1 1
01 ERlRS 5B 3 EER (R | wEk 25800 2 14
02 [l e 3 B O(BRD | mmEk 25800 2 14
03 (@S TREHEAR 3 EBE (R | ek 25800 2 10
04 TREEM 3 IR (8D LS EES 25800 2 9
05 THEHLN AR 3 IR (R R TES 25800 2 9
06 |F BB A 30| BB (ERD | MEk 25800 2 10
07  |WLHE—RfbBA 3 EE (R | ek 25800 2 10
08 [ARRM AL HA 30| W (ERD | wE% | 25800 2 E
09 BEMERENTEA (SRS 3 IR (8D LS EES 25800 2 10 fE i3
AG2 R R AR K2
10 BhRESYe 3 B O(ERD | Emk 25800 4 3
1 AR 3 B (B | EE%k 25800 2 12
12 P (RE ) 3 IR (8D LS UES 25800 4 9
13 P CGEEPHD) 3 IR (8D LS EES 25800 2 9
14 |ERBEFUEEAR 3 IR (TR | ER 25800 2 13
15 |RiHEE 30| WER (RRD | Wmk 25800 2 2
16 |B4HE GEHORS%S) 30| WER (BRD | mk 25800 2 13
17 |RRIVEHESFE (IR 5 555 30| mm(ERD | Es 25800 2 10
WETRIETE: 233 38 195
#6771, 4107




BAEHR
EEEPE
NE- 3! 7 &2
BEEAR 2
FHR ST Bl |gmp o) PR AR g ,
& Beke 47K s RET LA | BBRR | e | e | Rera|meore| TR L g RS B
_|s BE=&
%Y 7 Ve | ) B et = e
s etk £, ik
ERSA 2
BB JE =4
£%
01 b 3 B (R | wmk 21800 30 30 5
23] e ; A 7N % ~ '%‘3 }
53 7N , ¢ )l N7 3] o
03 (& R ISA U AR 3 B (B | EE%k 21800 3 6 2
05 |WLHE—fRfbBA 3 EBE (R | ek 19800 2 5
06 (BRI AR 3 B (B | EE%k 21800 20 2
07 BrAEAR (RIEN AR 3 B (&R PISTES 21800 3
08 [ HERIE S AR B 3 B (B | EE%k 21800 2 3
10 | TREEA 3 EER (R | wEk 19800 2
12 NI R EZZ5% S 3 IR (ERD) R TES 23800 2 5 3 [E=4
AG4 bR B2
13 | REIESSH 3 BEO(ER) | EEk 19800 2
14 |HTHSE 3 B (B | EE%k 19800 8 3
16 B 3 EBE (R | sk 19800 3
17 %A 3 B (B | EE%k 21800 10 3
18 |fEHisS5EH 3 EEO(ERD | HER 21800 2 2
19 &5 R 3 B (B | EE%k 19800 5 3
21 |ZARB 30| W (FRD | EARK 25800 2 5 2
24 B BAERAR 3 IR (FR) | @k 23800 2 4
WETHRIATE: 236 70 136 30
BT, H10m




BAEHR
EEEPE
NE- 3! 7 &2
BEEAR 2
W W = = | Z kK| Flk KR
ﬁzﬁ Beke 47K ﬁﬁ;ﬁﬁ RET LA 25 | EHER Z]ﬁ #ﬁ:ﬁ) O 2 s o RERIFE | oo o | B B
_|s BE=&
%Y 7 Ve | ) B et = e
ik Btk £, ik
ERSA 2
BN B =
£%
01 Tk HLEE AEAR 3 B (HR) | EE%k 22800 15 15 3
(2 1 G XTI TiES %S 3 B O(HR) | EE%k 22800 24 20 4
03 THENM AR 3 B O(ERD | Emk 22800 10 10
04 EAEAR 3 B O(ERD | wEmk 22800 10 10
05 |y 3 R (R | Bk 22800 33 31 4
06 |dxmbiRss 5 EH 3 B (B | EE%k 22800 15 10 3
07 | REIRE LT 3 IR (TR | ER 22800 20 14 3
08 LT 45 3 IR (ERD) R GES 22800 12 10 3 [E3=4
A65 ST IR
09 |EEEHESEAEE (BSS5RE 3 R (R | HEk 25800 12 14 3
10 SR S EE 3 B (&R PLETE S 22800 12 10 3
11 T4 5 53 3 EE (LR | ek 22800 22 14 3
12 |HW&3E 3 B O(BRD | mmEsk 22800 12 10 3
13 |ZAREGE OS5 RRE) 3 B O(HR) | BA%K 25800 9
14 | ZREGE (ENEFRE) 3 BIO(EHR) | BA%K 25800 9
15 (B EARB (Shig k) 3 BEO(ERD | EA% 25800 9
ARG 424 224 168 32
$8TT, 107




i p]

EREFRSE
v kR
B2
AR £ LEE i [pmn (p PIRFRRAE O ‘
- Ber & RS RELLEH W | FHEK BR | /) |REFR|REFL| piiio yigh [ERER &
F 52 R | ) L7 = k53
A . Flk
FREA 2
) B JR =8¢
H%
03 | TLARAE BB O S BB BT SORL T i) 30| "I O(ERD | HE%k 24000 4 5 2
04 | BRI A B (1 At 7 ) 3 FICER | 24000 7 15 2
05 | AT SIS R 1) h 3 A 30| B CERD | dE% | 29800 3 3 2
YR — 5 | am em | 24000 3 3 2 OH. AEEAE. 2. PERE. BT
N IS RE A e
07 (TR G RALHE T ) 30| (BR[| HaER 24000 6 35 2 .
i
A66 b RO R AR A 08 |EEFUH M TREBA CRA TR T i) 30| mIO(ERD | HE%k 24000 5 24 2
09 |HiREBEAERA 30| W (FRD | HER 24000 7 16 2
10 |LiE—ffesk 30| ml CERD | EE 24000 6 15 2
1 BERR CERERIE ) 30| W (ERD | BaEk 24000 6 15 2
12 |fesss e 30| W (ERh | HiE% 24000 3 3 2
A 204 20 P 2
01 B A 30| W O(ERD | wEk 22000 7
02 |EYHPEYIS 30| W CGERD | dEk 22000 14 18
03 |mTEs 30| W O(ERD | wEk 22000 3 4 1
04 | RIS S 30| mIR (FRD | SER 18000 3 4
05 |mEEE SR 30| W (ERD | MmE 22000 5 3
(E3°S
A6T | L RIEBNA A 06 Bl —fRLHA 30| W (ERD | HE% 22000 7 6
07 |EEEE AR A 30| W (FRD | HEs 18000 6 1
08 | Llkhles ABiA 3 MR (ERD | HEk 22000 9 8 1
09 |WEEEITHAREA 30| Wl O(ERD | HEk 22000 6
10 [EREH HFHEHFEA) 30| BB (RRD | ZA% 22000 3 4
WAETET: 15 20 o 2
H9TL, 107




i p]

R
v Ak
BREEAR2 1
R S EE B |3ig G PLRF I LAF ,
- Ber & RS RELLEH W | FHEK BR | /) |REFR|REFL| piiio yigh [ERER &
FRY L JE 5 | o = R
ma | o o FK
FRSA 4
4 L8 =
E%
01 GRS 30 R O(RR) | HEsk 29800 2 5 2
02 [REIZKE 3 HMI(ERD | ZARE 33800 1 2
06 |HETLEM 30| mm R | sk% 33800 1 2
07 |BEREEAR 30 W O(FR) | ZAR%K 29800 2 2 2
13
AG9 R EARB A 08 | AWIBL B GRStk 30 W O(FR) | ZAR%K 29800 2 2 2
09 |B &It 3 EBEO(EBRD | BAR% 29800 2 4 2
10 |lEREARB 3 HI CER | ZARE 29800 2 2 2
1 B BARAR GEARRRUE ) 30| W O(FR) | ZAR%K 29800 2 2 2
AT 47 14 21 12
01 RAAE S TR 3 I CeR | 7500 2 39
02 |EfEdEEA 30| W O(RR) | HEsk 7500 32
03 |TEL TAERIAR 30| W O(RR) | HEsk 7500 2 25
04 |ATBLAE R AR I A 30| eRh | wE 7500 31
05 Wz HifE BB 30| W O(RR) | HEsk 7500 1 53
06 |RHkHA 30| eRh | wE 7500 2 28 FEREAUE e  wsmmroms
AST | LR B IR AR >
07 |REREARBE 30 W O(RR) | HEs 7500 18 BH. A AHIE
08 e LI 30 W O(RR) | HEs 7500 20 BH. A AHIE
09 | REE S E 3 I CeR | 7500 3 37
10 (@R TR 30| W O(RR) | HEsk 7500 1 28 BEAERE
n YL SEIAE %N 3 I CER | EEk 7500 1 27
A At 350 12 338
#1071, 103




